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[i.ii) Marks are given against each of the question.
(iv) All questions carry equal marks.
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What are the dlffe.re.n t Stages involved in the commission of a crime ? ®

How woulc_l___y_ou distinguish between them inter se ? ' :;’

‘B’ is drowning and is insensible. ‘A’ in order ¢, save his life, pulls him »

out of the water with a hook, which injures hin, piscuss the crim +

liability of ‘A’ ' e criminal 4
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When the right of private defence of body extends to causing death ?
Explain. \vo

A’ attempts to pull ‘Z’s nose. ‘Z’ in exercise of the right of private defence,
lays hold of ‘A’ to prevent him from doing so. A’ is moved to sudden and

violent passion in consequence and Kills Z. What offence, if any, ‘A’ has
Committed ?

(c) ST A qorr g ot v AR | 10
Distinguish between culpable homicide and murder.
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Who is an abettor ? When does an abettor become liable for the offence
committed or even not committed ? Explain.

‘A, a lady, asked a doctor ‘B’ to supply poison for the purpose of
poisoning her son-in-law which ‘B’ refused. What offence, if any, has
been committed by ‘A’ and ‘B’ ?

(b) “farferqel deegenar & sueww’ &) gfe™1 ST wd gETd arel Y gemdT & $H%
JTITIF Teall shi =T hHifo |
‘& T Tt F ey 2 | 98 BT B S R | 3W W guera o s e
F Tl A we ¥ forg ‘o 38 W A W F T H e 3 2 | Ffeedta T
& wehe B 2 i SgR TG AeEN A TR | % Sty grfire w1 fafor
i 3k geme ame w1 Hed AR L 0o 15
Define ‘Kidnapping from lawful guardianship’ and djscyss its essential
elements with the help of relevant case laws,
‘A’ beats his wife. She becomesunconscious. Believing her to be dead and to
save himself from being prosecuted for murder, A’ hangs her in a beam of

the house with rope. Medical report Eiiscloses that she died due to hanging.
Determine the criminal liability of A’ and refer relevant case laws.

r\.‘b
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Distinguish between the following :
(i) Wrongful restraint and wrongful confinement

(ii) Criminal misappropriation and Criminal Breach of Trust.

Aa) AR i afesrer AT qen 36 STUATE] o) ST IS |
‘&, ‘9 B U IR FE & 9T W STAR SAF T T I 3T FaT & fh
T8 T HR HI A SR R 2 3R Y ‘% A afigd B 2 |7 39 FN W
TG Fh W F I IREH 3 31 2 | ‘& T F &7 90y a1 & 7 FR0
afa IR ANT | - 15

: ¢ ! - ’ . . .
Define ‘Defamation’ and explain its exceptions.

A by putting ‘Z’ in "ié%wof grievous hurt, dishonestly induces ‘Z’ to sign
a blank paper and delyer it to ‘A. ‘Z’ signs and delivers the paper to ‘A.
What offence A’ has committed ? Answer with reasons.

(b) .=Ie o Mgk cieel 18 7 58 el Thll shal ST @ ¢ ATS ST ST L T
Aol feRell i e I ot 2 & ) 3Q foRe 1o <1 S e StTe 7
F H I T g @ W feran gar 10,000 ¥ 1 Gh YoROA R | @ Y Fe
FT % I8 F 10,000 73 ¥ ws 31 g1 2401 R 33w TR 1,00,000 79
T | 1 3 R @ e forvara a9 3 9 o X @ oy | ‘%’
3 o I 3T TR 7
What are the essentia] elements of robbery ? When does it amount to
dacoity ? What offence is committed when the offender whj
the above offence causes the death of any person ?

A’ has a letter of credit upon ‘B’ for rupees 10 00

15

le Committing

sum rupees 1,00,000 intending that it may

__Wrote the letter n :
— er. What offence A’ has committed ?
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What is ‘Cyber terrorism’ ? Discuss cyber terrorismasan offence under
the Information Technology Act, 2000. .

4. () TaTa (TRET) AR, 1986 % stmia Fia TEHR hl T1eu & Graq 3N
YR o U 3UR 1 i wifda) 7 gl AT | 15

Discuss the powers of the Central Government to take measures to

protect and improve environment under the Environment (Protection)
Act, 198e,

(b) ST =t siftrhr srfrfirm, 2005 % sl ol MR 34 § 7 oA @
SHAIHT STfAfm, 2005 3 st e sirRTel ) ST 6 R SR | 15
Who is Public Au%c(hh&rity under the Right to Information Act, 2005 ?
Discuss the obligations of public authorities under the Right to
Information Act, 2005.

(©) () = 3ol =R, e s g 2, # ge% F fFIR @e 3 e & |

1 I ok I F@ T g Ragehl s Tk St 72 T | SfiS @

T {oh0 22 U TR ‘@’ &t 31t@ & 39 999 o TR e 98 R ¥ g
SR o | 71 @ g 7 & war e e ? fnfie iy 5
A’ parked his car by the side of a road with his dog inside and locked
the car. The dog jumped about and smashed a glass of the window.
A splinter of the glass hit the eye of a passer-by ‘B’ while he was
walking past the car. Can ‘B’ sue ‘A’ for damages ? Decide.

(i) “F 3 o1 foram o e % T, @ A T A 7 = ey | el 3
fern fiferr & & f3 ‘= 3 @’ 1 G RN 5 g ey oy vy 5 v
ferme el st | ‘@’ e & T B ) B ) o vy s o
At 8 | Foffa v |
A’ promised to marry ‘B’ on the death of hjs father. The father still
living, ‘A" informed ‘B’ his intention of not fulfilling his promise on
his father’s death. ‘B’ without waiting for the father’s death at once
brings an action for the breach of contract. Decide

5
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Knowledge of risk does not necessarily imply assent. The maxim is
“volenti non fit injuria” it is not “scienti non fit injuria” Explain with
the help of decided cases.

(i) ‘T, SR, ¥ srht e @', S e i wek anferent o, @1 3794 G
@ ¥ o O st ) | e 3 St 3@ s A T, A
e STeTeh ofT, W a1 ol 3T 3TahT Bl Gl foarm | &gk | it 37 T8
3R T TR P 8 e R | R0 Al % % qified s i HIf |
‘A, the deféndant, caused his servant ‘B a girl of thirteen years, to
bf?_Plltﬁpossession of a gun. ‘B’ in a play pointed the gun at‘C, a
boy of nine years, and pulled the trigger. The gun went off causing
serious Injuries to ‘C’ Determine the liability of ‘A’ with reasons.

(b) “Swaw’ <t afesn g 3 gE ST T F A0 AR )

(c)

‘%’ o g G i bt gt < fore v | g B @ & 9 gl wen
SHE F Al T2 | S ey gue wfgar, 1860 I €W 379 & rrta 9
STTUY 1 AT =T = | sfirie % fafreea & dfad wa @n g
TTeTET H ST T T T et & 3R mrerEn % W S Y e % S
ferelt =t <0 formm | T o e =t farfresr hifva |
Define ‘Nuisance’ and discuss its essential elements,
Three kilogram gold was stolen from the shop of ‘A" The whole quantit
of gold was recovered by the police from ‘B’ who was Prosecuted f .
the offence of theft under Section 379 of the Indian Penal Coq 18 o
Pending decision of the prosecution the gold was deposited in th(‘l‘, ?0'
Malkhana from where the same was again stolen by some ope duilzo‘:}ie
o the

negligence of the officer, in-charge of the M ;
S nteu. alkhana. Decide the liability

‘ﬁ%’ﬁqﬁwﬁﬁmgﬁfﬁrﬁéﬁm—ﬁnﬁmw.

Define * ' Disti '
efine ‘Tort’ Distinguish between tort and breach of cont
ract,

16/Law-|i
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A contract cannot pe enforced by a person who is not a party to it even
though it is made for his benefit” Discuss the above principle with the
‘h’elp of relevant case-laws. Explain exceptions, if any, to this rule.
A.S wife left him because of his cruelty. A then executed an agreement
with her father, promising to treat her properly, and if he failed to
do so, to pay her monthly maintenance and to provide her dwelling.
Subsequently, she was again ill-treated by A and also driven out. The
wife brings an action to enforce the promise made by A to her father.
Decide.
(b) () ‘ere R’ 71 R ? 56 atraverss el 0 A= 6T | 7 T e
EIRIKERDIDIc D) gqu{mmmé?wﬁﬁm 10
What is ‘wagering agreement’ ? Discuss its essentials. Can a wagering
-agreement be enforced in a court of law ? Explain.
(ii) =T T wftaTd s % U € Aieedt § U gm o gy & g wemd
| STRTet 3 2l & e forar 36 18 ¥ o w9 A AR o g ) wer
foreft a7 worm o @ s | AT A A R ot g IR Y A 3 A e
T e | At 49 % ferg e @ | Foffa Hifir | 5
The plaintiff and the defendant were rival shopkeepers in a locality
at Prayagraj. The defendant agreed to pay a Ssum of money to the
plaintiff if he would close his business in that locality. The plaintiff

accordingly did so but the defendant refused to pay money. The
plaintiff sued him for money. Decide.

(©) %ﬁmm%mﬁmmﬁﬂwmﬁml 10

Critically cLlr)iscussl thel r ulleli 1aid:d|0|W| n:‘ilni ttlhl Eelianqqsaelzoaftgoaﬂ_lgwhﬁaxendale.
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Define * Contr;ct of Sale’. Discuss essential elements of contract of sale.

‘A’ contracted to sell to ‘B’ a parcel of 700 bags of groundnuts lying
at a warehouse. At the date of contract there were only 591 bags of
groundnutﬁhe remaining 109 bags were stolen before the date ofthe,:
contract without the knowledge of ‘A. ‘A’ sent 591 bags to ‘B’ but ‘B
refused to accept. 't brought an action for the price of 591 bags. Decide
with reasons. \
ST ATETH %ﬁ@ﬁﬁmﬁﬁﬁaw@mﬁﬁﬁ%ﬂm l
‘& A ‘@’aﬁ@mnﬁqéﬁwmﬁm%ﬁ C| ﬁ@ﬁqﬁf%@maﬁlﬁgjﬁ
AR A W I S T A £ 7 Fret s 2 oft 3l shae 50 1 60 The
et 3 for 3w g off |m§mﬂqm¢rzﬁﬁa’am cHE R ICIREMIEICIISE
ﬁagﬁgTFﬂeﬂaﬂu@ & ) a7 R | ‘T T o R S R o
o ¥ Feg e | # @ * e ot T P o6 T SR © 7
Explain the doctrine of’ Cavea%% Emptor’ and discuss its exceptions.
«’ agrees to sell to ‘B’ a reaping machine which ‘B’ had never seen and
which is represented by ‘A’ to have been new the previous year and used
to cut 50 or 60 acres of crop. After delivery ‘B’ found that the machine
was, in fact, a very old machine and returned it to ‘A" ‘B’ was sued by ‘A’
for the price of the machine. Is ‘B’ liable to pay the price ?

s <6 T ST | Tashd I 1 e =hl fererert Fifsre |

15

15
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Define ‘Hire-purchase’, Discuss the contents of hire-purchase agreements.
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8. (a) (i) wriiar ot wftams i qo srfterdt & sy el o e IS | 10
Define Partnership and discuss its essentials.
(if) Rl affd o e & s A | 5

Distinguish between damages and penalty.
, : : R ¥ ? o7 fandht
(b) Tt o 35 SRR 35 oY A el 7 syt 3 1 ST E

R, 51 6 7 e wmfram & ¢ fordre ifer 37 GETT FEET F1 Hed AT | 15
What are the rights of a partner in the management and con‘duct of
the business of a firm ? Can a partner be restrained from carrying on
ar_ly business other than that of the partnership while he is a partner ?
Discuss and refer relevant provisions.

(c) wthra forera a1fifem, 1881 % af=aid ‘TS 1§ ? Is3iehA o fafwel Sl
: CARCEEEIE I el

What is ‘Endorsement’ under the Negotiable Instruments Act, 1881 ?
I Discuss various kinds of endorsement.

10

Downloaded from: http://studymarathon.com/


www.studymarathon.com

